INSTALLATION DIAGRAM
HO0600VR — VOLVO RETROFIT KIT

IMPORTANT

THIS HEIGHT CONTROL VALVE (HCV) KIT CONTAINS 2 INSTALLATION DIAGRAMS.
PLEASE REVIEW YOUR APPLICATION FOR THE PROPER PLUMBING AND KIT OPTION.

* CONSULT OWNERS MANUAL FOR RIDE HEIGHT SPECIFICATIONS.

CONTENTS OF KIT

HCV ASSEMBLY PARTS LIST

H00600-23 HPB600-3

PART NO PART DESCRIPTION QTY PART NO PART DESCRIPTION QTY
H00600-00 HEIGHT CONTROL VALVE .......ccccocoviiiiiiinnnn. 1 H15040 LINKAGE.......coiiiiiiiicii e 1
H13964 1/4-20 LOCKNUT ..oovviiiiiiiciieiieeeee e 1 H15606 M6 NYLOCK NUT....oevviiiiiiiiiiiiiiiiiiiiceeee e 2
H15020 47 LEVER ..o 1

H15032 BALL STUD....oiiiiiiiiiiciiiieiice e 1

H15025 1/4 SCREW ...t 1

H15035A BRACKET.....ooiiiiiiiii i 1

H13964 1/4-20 NYLOCK NUT ...ooeiiiiiiiiiiiiiecccieeeee 2 ADDITIONAL PARTS NEEDED FOR VHD WITH DUAL EXHAUST
H13404 WASHER. ...t 2 voLvo

H13449 1/4-20 BOLT..cooiiiiiiiiiiiiiie e 2 PART NO PART DESCRIPTION QTY
H15036 TEE FITTING ... 1 8078144 ANCHORAGE........oeiiiiiiiiiiiiecee e, 1
H15047 ELBOW ..o 1

REMOVED PARTS

VHD WITH DUAL EXHAUST VN & VHD WITHOUT DUAL EXHAUST
PART DESCRIPTION QTY PART DESCRIPTION QTY
HEIGHT CONTROL VALVE.......coiiiiiiiiiiiiiieiieec e 1 HEIGHT CONTROL VALVE......ccciiiiiiiiiiiicciee e 1
LINKAGE ... e 1 LINKAGE ... 1
HEATSHIELD ... 1
LEVELING VALVE BRACKET ....ccciiiiiiiiiiiiiie e 1
ANCHORAGE ... e 1
FIGURE 1: VHD WITH DUAL EXHAUST BEFORE CHANGES. FIGURE 1: VN BEFORE CHANGES.
VIEW FROM REAR OF THE VEHICLE. VIEW FROM FRONT FACING REAR OF THE VEHICLE.

REMOVE LINKAGE REMOVE ANCHORAGE

REMOVE LINKAGE

REMOVE

HEATSHIELD REMOVE BRACKET REMOVE HCV

REMOVE HCV

m 223 15TH ST. NE « SIOUX CENTER, IA 51250 SHEET 1 OF 2
1-800-222-6283 - WWW.LINKMFG.COM LINK MFG. H15041 1/31/22



INSTALLATION DIAGRAM
HO0600VR — VOLVO RETROFIT KIT

IMPORTANT
INSTRUCTIONS FOR VHD WITH DUAL EXHAUST
* CONSULT OWNERS MANUAL FOR RIDE HEIGHT SPECIFICATIONS.

ROTATE BRACKET 180°
FROM IT’S ORIGINAL POSITION

NEW BRACKET
VOLVO P/N 8078144

EXISTING M12

NUTS (x2)
_ MBNUTS x2)
X
REAR VIEW OF VEHICLE B/N 949978
SECURE AIR LINES EXISTING
WITH CABLE TIES BRACKETS (x2)
IMPORTANT

INSTRUCTIONS FOR VN & VHD WITHOUT DUAL EXHAUST
* CONSULT OWNERS MANUAL FOR RIDE HEIGHT SPECIFICATIONS.

EXHISTING BRACKET &
MOUNTING HOLES

EXHISTING BRACKET

SECURE AIR LINES
EXISTING
WITH CABLE TIES BRACKET

FRONT FACING REAR VIEW OF VEHICLE

M 223 15TH ST. NE - SIOUX CENTER, IA 51250 SHEET 2 OF 2
1-800-222-6283 - WWW.LINKMFG.COM LINK MFG. H15041 1/31/22



